(BUHE 1)

=) N b= AN = AN e Poxay
BEX Mg EeGEs e FE STEE - WX FEE
/r\
BIER)
£ |4 3 [HEEBRESS FEHER
1IN A (BEAr /M)
15 S| FEEE RE SR e
KirhEbhE CE=EE) 200,000
KrHEsE CEHE) 1,519,000
Zofty (HIgEED S O E %) 1,292,800 5bE L - 2691000/
&5t 3,011,800
53 H (Efiz : M)
T mER | mEhEsA
N AN 2L T =9 e :I:H /a\g
EHEI D EF e FELIR ESylisel - o~ T
EHHRE 4B ~3A8 200,000 200,000
E=EBEBhE/NEt 200,000 200,000
- 1 BARE 12829, 30H 51,000 51,000
- 2 | BEEEATRIEREE 68 - 118 185,000 185,000
o 3 | FfELIL—3 3 EE 8 7. 8H 211,000 211,000
gy 4 | FHESY EE 4B ~38 9,900 9,900
5D
5 s = h 2 S E B ML S R 1 4B ~3A8 450,000 450,000
=/t 6 | BEHERES—EX 4B ~3A8 382,500 382,500
10 | shdpnmzx 4B ~38 786,000 786,000
2R
BiE
7 | ERGEEEREREE 4B ~38 214.400 214,400
24k, - > il
ot 8 R — RS 4B ~38 308,000 308,000
- 9 | &mvY d ik 374,000 374,000
H IR
Z Dt
EEERBE /G 2,971,800 2,971,800
A (BEE+EHE) 3,171,800 3,171,800




